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1. The boundary of a circular hole of radius a in an unbounded domain is subjected to a shear
traction of the form tθ = s0 + s1 cos 2θ + s2 sin 2θ, where s0, s1 and s2 are given constants.
The general solution under plane strain conditions is given by
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.



Determine the expressions for the nonzero constants, and state them clearly at the end of

your solution. If, for example, An corresponding to n = −1 is nonzero, then write it as A−1.
Give justifications for the constants that you claim are zero. Guesswork for the nonzero
constants in the infinite series is fine provided these justifications are provided.
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